
/sd ?= xhf/df

s|=;+=
ljj/0f  o; q}df;df  ut q}df;df  

 ut jif{sf] 

o; q}df;df 

1. s"n k""+hL tyf bfloTj -!=! b]lv !=& ;Dd_ 164,738,293    164,525,259   153,240,107    
1.1       r'Qmf k"+hL 8,588,972       8,588,972       8,588,972       
1.2      hu]8f 1,234,948       1,234,778        (842,038)         
1.3       l8j]Gr/ tyf a08x? -                -                -                
1.4      ;fk6L 736,200          940,200         944,400         
1.5      lgIf]kx? 138,296,639     146,595,451    128,423,604    

s= :jb]zL d'b|fdf 137,944,408   146,312,647     128,108,961     

v= ljb]zL d'b|fdf 352,231           282,804         314,643           
1.6       cfos/ bfloTj -                -                -                
1.7      cGo bfloTjx? 15,881,534      7,165,858       16,125,169       
2. s"n ;DklQ -@=! b]lv @=& ;Dd_ 164,738,293    164,525,259   153,240,107    

2.1      gub tyf a}+s df}Hbft 7,572,935        20,104,826      12,935,960       
2.2      dfu tyf cNk ;"rgfdf k|fKt x'g] /sd 305,000         2,145,000       2,894,800       
2.3       nufgL 42,939,516      41,767,261       45,471,652      
2.4      shf{ tyf ;fk6 - s±v±u±3±8=±r _ 93,906,096      85,989,405     77,194,435      

s= l/on :6]6 shf{ 2,511,340        2,600,278       3,056,867        
!=cfjf;Lo 3/ shf{ -?=! s/f]8 ;Ddsf JolQmut 3/ shf{ afx]s_ 428,470         438,440         282,166           
@= Jofj;flos ejg tyf cfjf;Lo ckf6{d]06 lgdf{0f shf{ 1,028,435       1,107,403        935,942          
#= lgdf{0f ;DkGg eO{ cfo cfh{g ug{ yfn]sf] Jofkfl/s sDKn]S; shf{ -                -                -                
$= cGo l/on :6]6 shf{ -hUufhldg vl/b tyf Knl6u+ shf{ ;d]t_ 1,054,435       1,054,435       1,838,759        
v= cfjf;Lo 3/ shf{ -?=! s/f]8 ;Ddsf JolQmut 3/ shf{_ 6,352,550        6,207,707        5,888,328       

u= dflh{g k|s[[ltsf] shf{ 1,460,274       1,242,063        1,036,507        

3= cfjlws shf{ 4,177,231        3,820,658       3,570,593        

8= clwlasif{÷ 6««i6 l/l;K6 shf{÷ rfn' k"hL shf{ 46,744,668     43,922,702      38,418,014      

r= cGo 32,660,033       28,195,997      25,224,126       
2.5      l:y/ ;DklQ 1,447,592       1,394,955        1,319,527         
2.6      u}x| a}ls+u ;DklQ 84,023           88,006           83,648            
2.7      cGo ;DklQx? 18,483,131      13,035,806      13,340,085      
3.

gfkmf gf]S;fg lx;fj
 o; q}df;

;Dddf 

 ut q}df;

;Dddf  

 ut jif{sf] 

o; q}df;df 

3.1       Jofh cfDbfgL 3,951,219        1,763,333         3,350,664        
3.2       Jofh vr{ 903,528          469,462          946,378          

3,047,691       1,293,871       2,404,286      
3.3       lkm, sldzg tyf l8:sfp06 212,775          134,028          203,819          
3.4      cGo ;+rfng cfDbfgLx? 292,323           171,409          243,939          
3.5      ljb]zL ljlgdoaf6 gfkmf ÷ Gff]S;fg -v"b_ 47,550           6,119              15,598            

3,600,339       1,605,427       2,867,642       
3.6       sd{rf/L vr{x? 1,413,225        517,614          1,137,380         
3.7      cGo ;+rfng vr{x? 440,041         172,829          386,201           

1,747,073       914,984        1,344,061       
3.8      ;+efljt hf]lvd jfkt Joj:yf 591,382          331,955           455,966          

1,155,691       583,029         888,095        
3.9      u}x| ;+rfng cfDbfgL ÷ gf]S;fgL -v"b_ 6,095             7,431              8,480             
3.10 ;+efljt hf]lvd afkt Joj:yfaf6 lkmtf{ 435,840         101,071          354,967          

1,597,626       691,531          1,251,542       
3.11 c;fdfGo cfDbfgL tyf vr{x? -v"b_ 79,431            34,401           238,042          

1,677,057       725,932         1,489,584      
3.12 sd{rf/L jf]g; Joj:yf 124,226          53,773            110,340          
3.13 cfos/ Joj:yf / :yug s/ vr{ 335,097          171,327           307,283           

1,217,734       500,832         1,071,961        
4

cg'kftx?  o; q}df;df  ut q}df;df  
 ut jif{sf] 

o; q}df;df 

4.1      k"+hLsf]if÷ hf]lvd efl/t ;DklQ 10.99% 11.53% 10.56%
4.2      lgliqmo  shf{{÷ s"n shf{ 2.75% 3.30% 3.40%
4.3      s"n shf{ afkt hf]lvd Joj:yf÷s"n lgliqmo shf{ 146.88% 138.31% 146.75%
4.4     k"+hLsf] nfut -cf}ift_ 1.26% 1.67% 1.93%
4.5      shf{{ ÷ lgIf]k cg'kft 67.90% 58.66% 60.11%
4.6       shf{{÷ :jb]zL lgIf]k tyf k|fylds k"+hL cg'kft

-g]=/f=a}+ssf] lgb]{zg cg';f/ u0fgf ul/Psf]_ 63.82% 55.20% 56.91%
4.7       g]6 :k|]8 4.98% 4.92% 4.79%
4.8       cfwf/ b/ 5.479% 5.010% 6.705%
4.9       s"n ;DklQdf k|ltkmn 1.44% 1.17% 0.00%
4.10  z]o/wgLsf]ifdf k|ltkmn 26.43% 20.93% 0.00%

1.

2.

3.

;'kl/j]If0f ug]{ lgsfo tyf jfX|o  n]vfk/LIfsn] yk÷36 ug{ lgb]{zg lbPdf kl/:s[t ljQLo ljj/0fdf km/s kg{ ;Sg] 5 .

o; cjlwsf /sd;+u t'ngfof]Uo agfpg lautsf /sdx? k'ga{uL{s/0f u/]/ k|:t't ul/Psf] 5 .

o; cjlwdf Joj:yfkgsf] cg'dfgsf] cfwf/df 3f]lift sd{rf/L cjsf; ;'ljwf of]hgfx?sf] nflu ? $) s/f]8 Joj:yf  ul/Psf] 5 .

u= Joj:yf cl3sf] ;+rfng d"gfkmf-v–#++=^–#=&_

3= ;+rfng d"gfkmf -u–#=*_

ª=lgoldt lqmofsnfkaf6 cfDbfgL -3±#=(±#=!)_

r= af]g; tyf s/ cl3sf] gfkmf -ª±#=!!_

5= v"b gfkmf gf]S;fg -r–#=!@–#=!#_

gf]6 M

v= s"n ;+rfng cfDbfgL -s±#=#±#=$±#=%_

         /fli6«o jfl0fHo a}+s lnld6]8

            l;+xb/af/ Knfhf, sf7df08f}+

                n]vfk/LIf0f gePsf] ljQLo glthf -q}dfl;s_

                cfly{s jif{ @)&#÷)&$ sf] bf];|f] q}df;df

s= v"b Jofh cfDbfgL -#=!– #=@_

g]=/f=a}+saf^ "s ju{sf] Ohfhtk|fKt ;+:yf


